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1. For the circuit in Fig. 1, find /and I;.  (20%)
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2. For the circuit in Fig. 2,
(a) Find the Thevenin equivalent circuit with respect to the terminals 4, B. (15%)

(b) Find the maximum average power delivered to R;. (5%)
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3. Assume the OPA in the circuit of Fig. 3 is ideal in which R=10KQ and C=10 4F.

(a) Find the transfer function of %—((—S)Z .Let ¥, (s) and V; (s) be Laplace transform of v, (¢)
s

and v; (r). (10%)
(b) If the input voltage (1) =10sin(t) V, find the steady-state response of v,(r). (10%)
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4. The switch moves from a to b at ¢ = 0 second. Find the voltage v(t) for r>0. (20%)
(PS: Before ¢ = 0, the circuit has reached steady state. )
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5. For the circuit in Fig. 5, find the transfer function of %E—S; Let V1 (s) and V5 (s) be Laplace
(s

transform of V7 and V3. (20%)
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